Learning Curve Calculations

1.A  job has an 80 percent learning curve.  The second unit required 32 hours to complete.  Approximately how many hours will be devoted to the first ten units (including those already completed)?

A.25.2

B.252

C.202

D.320

E.28

F.can't tell unless we know demand.

2.Who is learning fastest?

A.Joe, who takes 8 hours to do the first piece and has a 70% learning curve

B.Mary, who takes 7 hours to do the first piece, and has an 80% learning curve

C.Tom, who takes 6 hours to do the first piece, and has an 80% curve.

D.Marvin, who takes 5 hours to do the first piece and has a 75% curve

E.Tony, who still hasn't finished the first piece and probably never will, because he's still trying to calculate the natural logs in the formulas, following the MITDC method

F.Yolanda, who took 9 hours to do the first piece, and has a 60% learning curve

G.Joe and Mary are learning at about the same rate

3.A manager is trying to estimate the appropriate learning curve for a certain job.  The first twenty units had a total time of 730 minutes.  The first unit took 50 minutes.  If these data are reliable and fit the theory, which learning curve fits this best?

A.0.70

B.0.75

C.0.80

D.0.85

E.0.90

4. APC company has been using the same process to manufacture a protein solution since 1946. The process takes 72 hours in stable production. The Engineers developed an "improved" technique projected to reduce process time to 54 hr. Implementation in the plant gave this data:

Test lotnumber Time(hr.)


1 
440


2 
190


3 
160


4 
140


5 
130


6 
120


7 
112


8 
105

a) Calculate a learning % for this new process. Use an average of at least three determinations.

b) Is there some reason to disregard some of the data? Explain.

c) Ignoring data that doesn't fit in, calculate the theoretical number of lots that will be made before the process is back to 72 hours per lot

d) Will this process change eventually be worthwhile? Explain.






